112-24cp e £ g2 4

KT P F1 % A %L
~RAEEHERE B2 HOzE
TRAEEHRT S Fol (0%
ML TR =2 Jp 042
TRAEEHET & il £ 05
s Y281 ¥4 -1 #07%
A TH A e B £ =2 102
M RARAESE & F=2 0¥
A ERARAESE S w-1 it 03
AR E 4 7- 1 # 0%
A E AR S 4 -1 5 0 e
A RE AR S 2 7-4 # 074
AR AR & - 4 10z
AR E & -3 4045
A HRFEHARE S £ -1 0%
A RE A S S 4 -1 10
FHEREET S -1 +0 5%
T ERE RS 4 -1 0
PG E RS & = H#H0F
mERRE BT & =g 7 0:a

FARRELAME &% F-3 BR0
FARERERLEET LR -2 0% e
I L g 4 52 0% jsgo g & | R
R2 g ik g Bz 2 0
R4 s &imibpes g 4 ol HOE
R4 q & et & & =4 2 0%
R g éivibpge g g -2 +#0i%
R2 g ik & M- 4 0%
A g ms 4 B=3 RO
ST M= 2 £ Ok
A gHmy 4 =3 OB
ST | =0%
A g Hmy 4 i 204




112-24cp e £ g2 4

JEFEIE P FL % iz CRER
R g R g REY #80 &
Ay Fol #0%
K egBER & &= 2 EO0R
A g HEs 4 o %048
K g #ER & B2 0%
g g & -2 750 &
K g e & K- 1 F 0>
A s 4 F-1 304
K g BER & -2 3 0
x g & -2 5E01
ThE X ELES S F-2 0%
REEAELBEE L B - 4 104
Fhyr s & W3 EUES
LA &M AL BER L =1 #01
LA M AL S 4 #=-3 M0
AL M AY BB £ -3 A
LA &M A BE S, o1 #OR
AR S pol #H04=
ERERE S -1 0.3
Mt Rkt g & =3 £ 0%
PR R LB & F= 2 20F
i T3 -3 % 088 EE LR F
FEG AP RE 4 =3 2 09 AL
HEg AN P RS A K= 2 # 0pa
FEG AN P RE & =3 30#%
HEG I P R 4 =3 £ 0#y
FEG AN P RE & Fol w0%
LRI ¥ i 5 043
FE AL PR 4 = 4075
$EG P EE 4 F- 2 03
HOEG U P RS 4 e | 3EQ U
g N P Y & o2 %02
BHHEERFRE & K- 4 3 0%
BB RN ES o1 20%




